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  :التمرين الأول

א�&%�����'��Cل�
)
( )S�*+�
,-.!
0��12
א���د،�
V 20ml="�
( )S���!
4
�لو
7
6�א��5�( )S′
����8%��2�


)א�9�د��م )2 32Na S O+ 2
ذ:
א�&%��+− 1C 2.10 mol.l− −′ =
K�$�<=
�1>
?$�@�
א�A
>
B9CV 10ml′ ="�
( )S′
K


Dא��

و?$�@�
א��EF>
G�HICא

Iن�*
>
،
�
�9Jא

א���د��K$و
L��
B>���� :
             2
2 2 3 4 6I 2S O  2I S O− − −+ → +K
 


  :التمرين الثاني
�
�%
 D�,!m 13,9g=���Jא
 ����8%
 "�
II
 4
�ل
 A
>
 
'9�ل�
 Mذ�
 
و ،N��Oא
 Pא��
 �
 Q�*א�
1(S )
Q*+�

V 1L=7��%�R
1
وCK
 

�*+�
 ,-.!1V 10mL=ل�

א( "�
1(S )

�ل'S
 7����!
 LH
 
א��%� M��
א�@�8 TU
 "�
 �
�5Eא Q��=
 V�W!
 
و

2(S 
א������R�م( ��1X1�8�aq 4aq(K MnO )+ −+�R

 7��%2 1
2C 10 mol.L− −=
 K
L+Jא
 DY
 �1>
 ?$�@�
א� A
>
 B9C

2V 10mL=

א(
�ل"�
2(S )K
 

1
 J
[6

א������P�1HI
\�]

א�@�*���0
א�,:B>���
�
�
�9Jא

א���د��^�1�0�9
���د��
א�%���
و
א_-��אل
و
א�!
D�
א%

[�2א��دو`
4MnO Mn− +
3
و 2Fe Fe+ +K
 


2
 J
�*�E

Iو`�،0�Y�א�
��61��*�ل
א�aولC
K
 

3
 J���Jא
����8%
�X�Y

Iن�*
>II0b
Q�*א�

W4 2 S(FeSO ,nH O)
�*�E

��د،nK
 


05�!
W1 1 1 1M(Fe) 56g.mol ; M(S) 32g.mol ; M(O) 16g.mol ; M(H) 1g.mol− − − −= = = =
 

  : التمرين الثالث

I
 J
 A
>
 :��]
 ، ���
א- c��!I
 �
 D9!
1mL
 
א��� ��م 
� و %
 4
�ل
 "�
2
aq aq(Ba 2Cl )+ −+
4
�ل
 "�
 F�
E
 ،


 
א�9�د��م ����8%2
aq 4 aq(2Na SO )+ −+8@�
 T�6I
 Dא� 
 
R@�ن d�F1$
 ،
 
א��� ��م ����4(s)BaSO
 K

���د�� D�א%

BY�Jא
B>���
Kא� 

II
 J
 7��%�R

א��� ��م 
� و @�
0���
4
�ل
������
0C
 �*+�
eW!
 0
fg�ل،V 10mL=
LH
 
%.س،�

א(
�ل 
b,א"�

�
0���
4
�ل
�` ��
���'�

6�א��5 Q��=
V�W!
 7��%�R
 
א�9�د��م،����8@1C 0,1mol.L−=

6.�+�مe5i��
B@j6
 ،

��R0,5و: mL
�
Yא��א
k�i!

�$�<=
B%
��6

و،G0���
א�aول
א�A
>
B9'1$
،W
 

V(mL)  0,0  0,5  1,0  1,5  2,0  2,5  3,0  3,5  4,0  4,5  5,0  5,5  6,0  6,5  7,0  7,5  8,0  8,5  

G(mS)  2,12  2,09  2,07  2,05  2,03  2,01  1,99  1,97  1,95  1,93  1,91  1,91  2,06  2,18  2,32  2,42  2,53  2,6  

1
 Jא������
�
B*��
א��l��+�
א�D�%&א�
�!���R
�mI
K
 

2
 J[
>���
א�[>
Wא������
7,b
B>��R

���د��D�
و
א�����،
و
א%�nא����K
 

3
 Joא�
�EFא��
G�HI

א������
6�א��5
`�ول
א���iم?$�@R
L`&R
K
 

4
 J
A1'1א�
p-G f (V)=L�F�
L
�6K
 

5
 J
�
Yא��א
 �5R
����%
B
>
Gא������

-Fلp�
q
�K
 

6
 J
L+Jא

=�rد"@s
V�%
eqV?$�@��1
א�>
t�Wא�

KQ�*�E

��Kد 

7
 J

א�&%��^�1�
� و 
א��� ��م0Cא�%

�ل)
K
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�
א����5W
 

2 2 1(Ba ) 12 mS.m .mol+ −λ =




؛
2 2 1

4(SO ) 16mS.m .mol− −λ =





؛

2 1(Na ) 5mS.m .mol+ −λ =
 

2 1(Cl ) 8mS.m .mol− −λ =
 


  :التمرين الرابع
��
0��1
א���
�f5�
�1�1E
�i�9�
B>
�m�����
א��?
WNaOH
��
�
א�@���wא�

א����1


؛p 20%=?
 



 �f5א�
 Bא����
 
b,א V�x
 ،���

א�� 7,b
 "�
 Ki'�
4
�ل�500
 A
>
 B9'1$
 ،���(S)
 7��%�R
C
 K�!
���
�*+�V 100mL=
7��%
א���0�R
M� �� �

א�@T*J
0���
4
�ل

b,א
א(
�ل
6�א��5"�
2 1C 9,9.10 mol.L− −′ =K
 



A
>
B9'1$
 ،�$�<=
B%
��6
 ،�*f1�6
 
א��   ���
�
 
א������ ��jא�
 
و ،�
Yא��א

��Eس ��
-

=�@&ود:[6

א����ل �R��
א�k�i!
0���
Wא�aول
א� 


t�Wא�
L+Jא



V’(mL) 0 2
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U(V)
 

 

 

 
6,41
 

 

 

 
6,43
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6,50
 

 

 

 
6,45
 

 

 

 
6,47
 

 

 

 
6,47
 

 

 

 
6,50
 

 

 

 
6,48
 

 

 

 


I(mA)
 

 

 

 
64,2
 

 

 

 
61,2
 

 

 

 
56,5
 

 

 

 
52,0
 

 

 

 
46,7
 

 

 

 
40,7
 

 

 

 
35,9
 

 

 

 
53,4
 

 

 

 
70,4
 

 

 

 
78,2
 

 

 

 
87,0
 

 

 

 
94,1
 

 

 

 


G(mS)
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


1
 J�
Yא��א
c��y

א�aولLzא
GK
 

2
 JB>���
!�ع
b,א
א���

א������،B>��R

���د��D�
א%
K
 

3
 J
A1'1א�
p-
G f (V )′=L�F�
L
�6K
 

4
 J?$�@��1
א�>
t�Wא�
L+Jא
^�1�
א�
 

5
 Jم�i�
א������
6�א��5
`�ول
א�?$�@R
L`&R
oא�
�EFא��
G�HI
K
 

6
 J��%&א�
^�1�
*Cא��


�ل')S(K
 

7
 J
�m
�f5א�
Bא����
�i�9�
A
>
�

א��+����

א��[6
"�
(d 1,2)=
�

|�� و%���
א�9�د��م��
�
Iو`�
א����1
א�@،


�i�9

א�A
>
�

א��+�*�iא�
e�
�f! �E

و�f5א�
B(20%)א����K
 

05�!

W1 1 1 3

eauM(Na) 23g.mol ; M(O) 16g.mol ; M(H) 1g.mol ; 1 g.cm− − − −= = = ρ =
 


  

   

      


